
482.6 mm (19″)/metric installation

482.6 mm (19″) installation

1019Rittal Catalogue 31/System accessories

B

7.8

48
2.

6 
m

m
 (

19
″)

/m
et

ri
c 

in
st

al
la

ti
o

n

Adaptor
for RNC
For installing 10″ components in 296.2 mm 
(1/2 19″) enclosures.

Material:
Sheet steel

Colour:
RAL 7035

U Model No. DK

1 7870.760

4 7870.765

Spring nuts with screws
M5 x 10 mm/M6 x 10 mm for T-slot mounting 
angle
The spring nuts ensure flexible, secure mounting 
of accessory components on the T-slot of the FR(i) 
frame and on the T-slot mounting angles. 

Supply includes:
50 spring nuts,
50 spring nuts, 10 mm, self-locking.

Design Packs of Model No. DK

Phillips-head, M6 50 7000.990

Multi-tooth 25, M5 50 7856.755

Assembly screws
M5 x 16 mm/M6 x 16 mm
For electronic equipment, 482.6 mm (19″) 
installed components and blanking plates.

Supply includes:
Plastic washers.

Design Packs of Model No. EL

Phillips-head screw M5 100 2099.500

Cheese-head screw M6 100 2093.200

Phillips-head screw M6 100 2089.000

Multi-tooth screw
M5 x 16 mm/M6 x 16 mm
For optimum transmission of torques, an extended 
tool life and increased safety and reliability when 
tightening and loosening screw connections.

Supply includes:
Plastic washers.

Bit size Packs of Model No. DK

M5 Multi-tooth 25 100 7094.500

M6 Multi-tooth 30 100 7094.600

http://www.rittal.com/RiBook/My.Order?ArtNr=2099.500&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=2093.200&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=2089.000&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7870.760&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7870.765&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7000.990&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7856.755&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7094.500&lang=GB
http://www.rittal.com/RiBook/My.Order?ArtNr=7094.600&lang=GB



